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< .~ EXERCISE 1.2
1. Abook exhibition was held for four days in a school. The number of tickets sold
at the counter on the first, second, third and final day was respectively 1094,
1812, 2050 and 2751. Find the total number of tickets sold on all the Tour ddys

—

¢ 2. Shekharis a famous cricket player. He has so far scored 6980 runs in test matches.
He wishes to complete 10,000 rins. How many more runs does he need?
3. d his nearest
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Find the difference between the greatest and the least 5-digit number that can be So,3r

written using the digits 6, 2, 7, 4, 3 each only once.

it produce in the mo f January

. Amerchant had ¥ 78,592 wjth her. She placed an order for purchasing 40 radio sets

at¥ 1200 each. How much money will remain with her after the purchase?”
o —
A student multiplied 7236 by 65 instead of multiplying by 56. By how much was his

answer greater than the correct answer? (HiantDo ou need to do both the
multiplications?) 28 o

59 )’o stitcha shmﬁ m15cm clotBs needed. Out o-w many shirts can be

stitched and how much cloth will remain?
T6432
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= 8. Astudent multiplied 7236 by 65 instead of multiplying by 56. By how much was his

answer greater than the correct answer? (Hint: Do you need to do both the

multiplications?) > W et
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